public class pileTab {

        private String [] pile;

        private int sommet;

        public pileTab(){

                pile = new String[12];

                sommet = -1;                    

        }

        public void empiler(String elt){

                if (sommet==pile.length-1)

                        doublerTaille();

                sommet++;

                pile[sommet]=elt;

        }

        public void doublerTaille(){

                String[] t;

                t = new String[2*pile.length];

                System.arraycopy(pile,0,t,0,pile.length);

                pile=t;

        }

        public void depiler(){

                pile[sommet]=null;

                sommet--;

    


/*if (sommet<pile.length/2)

                        diviserTaille();*/

        }

        public void diviserTaille(){

                String[] t;

                t = new String[pile.length/2];

                System.arraycopy(pile,0,t,0,pile.length/2);

                pile=t;

        }

        public int getSommet(){

                return sommet;  

        }

        public String getElt(int i){

                return pile[i]  ;

        }

        public boolean estDans(String val){

        
for(int i=0; i<sommet; i++){

        

if(pile[i]==val){

        


return true;

    


}

    

}

        
return false;

        }

        public String toString(){

        
String s=" ";

        
for (int i=0; i<pile.length;i++)

            s+=" "+pile[i]+"-";

            s=s+"\n";

           return s;

        }

}

//////////////////////////////////////////////////

public class parenthese {


public static void main(String[] args){



String s="([{()}])([])";



System.out.println(estParenthese(s));



String s2="([{()}]))";



/*System.out.println(s==s2);



System.out.println(s.charAt(0));*/


}

    public static boolean estParenthese(String s) {

        pileTab P= new pileTab();

        for(int i=0; i<s.length(); i++){

        
String t=""+s.charAt(i);

        
if(P.getSommet()>=0 &&

        

((s.charAt(i)==')' && P.getElt(P.getSommet()).equals("("))

        

|| (s.charAt(i)=='}' && P.getElt(P.getSommet()).equals("{"))

        

|| (s.charAt(i)==']' && P.getElt(P.getSommet()).equals("["))

        

)       


        
)

        
{

        

P.depiler();

        
}

        
else

        

P.empiler(t);

        }

    
return(P.getSommet()==-1);           

    }

}

